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Frequency KHz Peak Value dBm/Hz
O0<f<4 -97.5
4 -92.5
4<f<8 -92.5 + 21*l0g2(f/4)
8<f<14.75 -71.5
14.75<f < 28 -71.5+28.225*|0g2(f/14.75)
28 <f <60 - 45.4 + 6.27*10g2(f/28)
60 < f < 200 -38.5 + 1.15*|0g2(f/60)
200<f<1,104 -36.5
1,104 < f < 3,093 -36.5 - 36*10g2(f/1,104)
3,093 <f -90
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(kHz) {dBm/Hertz)
0= f<4 -07.5, with max power m the in 0-4 kHz band of +15 dBr
4< f< 235875 92,5 +21.5 x logy(f14)
25875 < f< 138 -34.5
138 = <307 -34.5 — 48 x logo(f7138)
307 < <1221 -90
1221 < < 1630 00 peak, with max power in the [£, f+ | MHz] window of

(-90 - 48 x loga(f/1221) + 60) dBm

1630 < 7= 11040

=90 peak, with max power in the [f, f+1MHz] window of -30 dBm
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